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New 300-160 Exam Questions & Answers Download:
https://drive.google.com/drive/folders’'OB75b5xY LjSSNZ21HQJEQY zFwTWs?usp=sharing QUESTION 76What is your
recommendation to a customer interested in slowing power consumption in the data center? (Choose two.) A.  Consolidate servers
through virtualization.B. Convert servers from 220v to 110v.C. Implement Cisco Unified Fabric.D. Convert from ACto DC
power distribution.E.  Stop using redundant power supplies. Answer: AC QUESTION 77Which three items represent data center
virtualization technologies? (Choose three.)) A. VDCB. VSANC. LUND. L2firewdlE. GLBPF. ECMP Answer: ABC
QUESTION 78What technology is necessary to support vPC+? A.  MPLSB. OTVC. FabricPathD. vCenterE. RPVSTF.
MST Answer: C QUESTION 79What is configured on an NHRP to trigger failover if an SVI goesdown? A. BPDUB. weightC.
interface priorityD. object trackingE. local preferenceF. cost Answer: D QUESTION 80Which two devices operate only at
OSl Layer 2? (Choosetwo.) A. Cisco Nexus 7010B. Cisco Nexus 5548C. Cisco Nexus5596D. Cisco Nexus 5020E. Cisco
Nexus 3016F. Cisco Nexus 2248 Answer: DF QUESTION 81What allows for STP to be disabled yet support a loop-free topology
evenonlink or switch failure? A. LACPB. OTVC. VvPCD. VvPC+E. FabricPath Answer: E QUESTION 82Which three
options are examples of NHRP? (Choose three)) A.  OSPFB. HSRPC. VRRPD. GLBPE. OCSPF. EIGRPG. MPLS
Answer: BCD QUESTION 83Which document is the least relevant as an output deliverable from the design phase? A.  high-level
designB. site requirements specificationC. configurationsD. migration plan Answer: C QUESTION 84Which access-layer
deviceis capable of low-latency 40 Gb Ethernet switching? A.  Cisco Nexus 5596UPB.  Cisco Nexus4000C. Cisco Nexus 3016
D. CiscoNexus2232E. Cisco Nexus 2248 Answer: C QUESTION 85Which two options are reasons to use | P routing to
segment a data center instead of Layer 2 routing? (Choose two.) A.  Spanning Tree ProtocolB.  simplify designC. broadcast
floodingD. ease of routing protocol configurationE. cost Answer: AC QUESTION 86Which two options are benefits when you
implement server virtualization in your data center? (Choose two.) A.  No additional operating system licenseisrequired.B. Cost
effectivenessisimproved.C. Thisisadatacenter virtualization trend.D. Power consumption isreduced.E. Configuration of
routing protocol is simplified. Answer: BD QUESTION 87Which data center management tool provides performance and capacity
monitoring and trending for SAN and LAN infrastructure? A. Cisco UCS ManagerB. Cisco NAMC. Cisco NetFlowD. Cisco
DCNM Answer: D QUESTION 88Which data center monitoring tool can collect and display per port Layer 2 statistics? A.  Cisco
DCNMB. Cisco NAMC. Cisco NetFlowD. Cisco UCS Manager Answer: B ''RECOMMEND!!!  1.]2017 New 300-160
Exam Dumps (PDF & VCE) 403Q& As Download: https://www.braindump2go.com/300-160.html  2.]2017 New 300-160 Exam
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Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com | Pagel/1 |


http://www.mcitpdump.com/?p=7193
http://www.youtube.com/watch?v=DADPr4lm2as
http://www.profprojects.com/?page=upm

